B : literal
token =4
v=7

h=7?

C: plus
VvV =
h:?

D : literal
token =3
v=7

h=7?

%

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v="7

h=7?




A : plus Semantische Regeln
V=B.v+C.v literal:
h=max(B.h, C.h)+1 x.v = int(x.token)
xh=1

= A

/ \61“ plus:
B: literal C: plus x.v = X.lhs.v + x.rhs.v
token = 4 V=D.V+E.v x.h = max(x.lhs.h, x.rhs.h) + 1
v =1int(B.token) h=max(D.h, E.h)+1
h=1

s/ %

D : literal

token =3

v =1int(E.token)
h=1

E: literal

token =5

v =1int(E.token)
h=1




A : plus Semantische Regeln

V=B.v+C.v literal:

h=max(B.h, C.h)+1 x.v = int(x.token)

x.h =1

= A

/ \61“ plus:
B: literal C: plus x.v = X.lhs.v + x.rhs.v
token = 4 V=D.V+E.v x.h = max(x.lhs.h, x.rhs.h) + 1
v =1int(B.token) h=max(D.h, E.h)+1
h=1

s/ %

D : literal

token =3

v =1int(E.token)
h=1

E: literal
token =5
v=>5

h=1




A : plus Semantische Regeln

V=B.v+C.v literal:

h=max(B.h, C.h)+1 x.v = int(x.token)

x.h =1

= A

/ \61“ plus:
B: literal C: plus x.v = X.lhs.v + x.rhs.v
token = 4 V=D.V+E.v x.h = max(x.lhs.h, x.rhs.h) + 1
v =1int(B.token) h=max(D.h, E.h)+1
h=1

s/ %

D : literal
token =3
v=3

h=1

E: literal
token =5
v=>5

h=1




A : plus

v=B.v+C.v

h=max(B.h, C.h)+1

)
Y

B: literal

token =14

v =1int(B.token)

h=1

\/3\:\

C: plus

v=D.v+E.v
h=2

o
Y

D : literal
token =3
v=3

h=1

y{

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v=>5

h=1




A : plus

v=B.v+C.v

h=max(B.h, C.h)+1

)
Y

B: literal
token =14
v=4

h=1

\/3\:\

C: plus

v=D.v+E.v
h=2

o
Y

D : literal
token =3
v=3

h=1

y{

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v=>5

h=1




B: literal
token =14
v=4

h=1

D : literal
token =3
v=3

h=1

y{

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v=>5

h=1




B: literal
token =14
v=4

h=1

C: plus
v=3_8
h:

D : literal
token =3
v=3

h=1

y{

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v=>5

h=1




A : plus

v=12

)
Y

B: literal
token =14
v=4

h=1

C: plus
v=_8
h=

D : literal
token =3
v=3

h=1

y{

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v=>5

h=1




A : plus

v =12

)
Y

B: literal
token =14
v=4

h=1

C: plus
v=_8
h=

D : literal
token =3
v=3

h=1

%

Semantische Regeln

literal:
x.v = int(x.token)
xh=1

plus:

x.v = X.lhs.v + x.rhs.v
x.h = max(x.lhs.h, x.rhs.h) + 1

E: literal
token =5
v=>5

h=1




